(BUHE 1)

=1 >3 A S SRR A A H . ShEs
BEX g EEHES e FE REE - NIAREE
/r\
CREEI)
EE |4 4 [HEEDRESS FEHER
1IN A (BEAr /M)
=} ] TE4%E RESEE g%
KirhEbhE CE=EE) 50,000 50,000
KrHEsE CEHE) 1,675,000 1,675,000
FHL )T - 3 v FEEHSMEL73,000
. < . SMEREY - XSNEL35,
Z ot GEFED >ORHE%) 1,016,600 701,036 |25 70 000 oo
S d WEZETE £120,000 % &8
&t 2,741,600 2,426,036
53 H ({7 2 M)
EXES B &R mEhdg | wEhTRA
SEENH B E ) Sy )i —_
G E S SER | mwmese) | mmaow | s =E
EHERE A8 ~3R 50,000 616 50,616
EEBEBhE/st 50,000 616 50,616
s - EES 12829,30H 38,459 38,459
o 2 |EEEFrB R A 4B~3R 157,506 31,368 188,874
= 3 [FtL oL —>avEs| 7830310 209,758 209,758
L 4 |FHRSTYES 48 ~38 0 0
5/ E .
5 [EEE s 48~38 393,872 12,573 406,445
@t 6 |SHMEREY—EX A8 ~3H 448,347 448,347
10 [snd ez A8 ~3H 510,047 510,047
ViedES N
B N
it - 7 |ERhEEREREE | 4B~38 128,095 128,095
A 8 | AR—VIHEERS 48~3H 312,249 312,249
- D f ik 133,146 133,146
Ho IR 3 -
Z Dty -
SEEMEMBE/ET  @BrYX) 700 % 2,331,479 43,941 -1 2,375,420
G5 GBEE2E+EHE) 2,331,479 93,941 616 | 2,426,036




